
Sada př́ıklad̊u č. 5. skupina C
Pr̊uběh funkce 1

Pro funkce:

1.

f(x) =
2− x

x + 1

2.
f(c) =

c

c− 3

proveďte prvńı tři kroky výpočtu grafu pr̊uběhu funkce.

Řeš.:

f(x) =
2− x

x + 1

1.krok

• defičńı obor: R \ {−1}

• sudá: neńı

• lichá: neńı

• periodická: neńı

• body nespojitosti: {−1}

• nulové body: {2}

• itervaly: (−∞,−1)	, (−1, 2〉⊕, 〈2,∞)	

2.krok

• prvni derivace: −3
(x+1)2

• body nespojitosti: {−1}

• nulove body: ∅

• intervaly: (−∞,−1)	, (−1,∞)	

3.krok

• druha derivace: 6
(x+1)3

• body nespojitosti: {−1}
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• nulove body: ∅

• intervaly: (−∞,−1)	, (−1,∞)⊕

f(x) =
c

c− 3

1.krok

• defičńı obor: R \ {3}

• sudá: neńı

• lichá: neńı

• periodická: neńı

• body nespojitosti: {3}

• nulové body: {0}

• itervaly: (−∞, 0〉⊕, 〈0, 3)	, (3,∞)⊕

2.krok

• prvni derivace: −3
(c−3)2

• body nespojitosti: {3}

• nulove body: ∅

• intervaly: (−∞, 3)	, (3,∞)	

3.krok

• druha derivace: 6
(c−3)3

• body nespojitosti: {3}

• nulove body: ∅

• intervaly: (−∞, 3)	, (3,∞)⊕
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